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BECC-106 : INTERMEDIATE MACROECONOMICS - |

Time : 3 hours Maximum Marks : 100

Note: Answer the questions from all the sections as per
instructions.

SECTION A

Answer any two questions from this section in about
500 words each. 2x20=40

1. Derive the Aggregate Demand (AD) curve from
the IS-LM model with the help of appropriate
diagrams. List the factors that lead to a shift in
the Aggregate Demand (AD) curve.

2. What is meant by rational expectations ? What
are its implications ? Point out its limitations.

3.  What is Phillips curve ? What is its shape under
(i) adaptive expectations, and (ii) rational
expectations ?

4. Bring out the salient features of Balance of
Payments (BoP) in an economy. Why does the
BoP always balance ?
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SECTION B

Answer any four questions from this section in about
250 words each. 4x12=48

5. State the interest parity condition in an
economy. How can it be applied in the
determination of exchange rate ?

6. Define involuntary unemployment. Give a brief
account of the types of unemployment.

7. Explain how firms set prices in an imperfectly
competitive market.

8. Discuss the impact of an expansionary
monetary policy in an economy.

9. Discuss the factors that lead to a shift in the
Aggregate Supply (AS) curve.

10. Explain the effect of a rise in bond price on
equilibrium exchange rate.

11. State the effect of an expansionary fiscal policy
in a large open economy in the short-run.
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SECTION C

12. Write short notes of any fwo of the following in
about 100 words each : 2x6=12
(a) Long-run Aggregate Supply Curve
(b) Forward Contract

(¢) External Balance and Internal Balance in an

Economy

(d) Real Exchange Rate
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